Test 2: Functions and Relations
Evaluate Functions given equations
Evaluate Functions from graph
Relation or Function
Domain and Range
Graph Features
Intervals
Draw a graph

Piecewise

Examples (Test is not limited to these examples, but they will help):

x—3, whenx <6
2x, whenx =6
10, when x > 6

Given: f(x) =

Evaluate: f(9) f(2)
. _(1-x, ifx<3
Given: g(x) = { 3x+5, ifx>3
Evaluate: g(—5) g(0)
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Identify the range of the function f(x) = 2x — 4, given the domain D: {0,1, 4}
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Determine the domain, range, whether it is a function, and then draw a mapping diagram.
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Given f(x) = 2x + 4, if the output is 12, what was the input?
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Draw a graph with a domain of —4 < x < 5, arange of —2 < y < 7, contains f(3) = 2, has an absolute

maximum when x = —1, has a relative minimum when x = 5
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Determine if the following relations are functions. If not, explain.

{(4, -5), (0,-9), (1,0),(7,0)} (-2, -5), (4,9), (1, 10), (-2, 4)} | 1(4,-5),(0,-5), (11, 30), (17, 10)}
_— =

[f(//l £‘7l2/-oh NO’/ a ILI:nz“ﬁ;y/I Ff/ﬂé‘ﬁé.ﬂ

44511 |f-5)23 y y l—‘
-3 1] 1] 0] s) 1 |
*
e -
/\lof a Furction S . I % :
&

Function Foncton

Input Output ' Input Output |’ ﬂ X =
8 6 JENE INNENEEE
— -5 y
> —t >
’ % 12 EEEEREEI FRREE
Hp===="14 A

]’/un hon Fonchon




Given the following functions:
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f(x)=4x-7 g(x) = —9x h(x) == jx)=x%+2
Evaluate and Simplify
f(-6) 9(-8) f(5b—-2)
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Label the extreme values of the following graph (assume arrows at the ends)
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How many solutions of f (k) = —1 are there? __ f
M' Describe the end behavior:
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